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L » mwn: status of “surplus” 0%pw and “surplus” nrvn-funds
a. If:he amasses small coins and declares “these are for my Ypw” (*9pw% 198 »n) and finds there to be surplus
i. v’ the surplusis nam
ii. /77 the surplus is P
iii.  But if: he declared “I will donate my %pw from these” (Yoxn "9pw R2aR) — all agree that the surplus is pon
b. If: he declares 'nxron% 19& "0 — all agree that the surplus is nam
i.  Butif: he declares 'nron jnn R2arw — all agree that the surplus is P>
II. 2 versions of ®™’s opinion in case he identifies a mass of coins and declares “*9pw5 15K”
a. Background: nov "1 and »271 "1 DWa noprn " agree that our ruling is only in case he is massing coins
i.  But:if he has an already amassed pile of coins and points to it, declaring 9%
1. 70y 77 all agree that it is nam
2. 212277 (quoted by mprn 7): all agree that it is Pomn
a. /pm 1. support for *222 1 from next mwn:
i 72 p75pw. W™ explains the distinction between 0'%pw and nron:
1. Distinction: D9pw has a set amount in the NN, unlike nrvN
2. argument: context cannot be if he declared *>pw? 1oxn R2ar — all agree that PN 1ImM
a. and: if he said »nxronY jan Xarw — all agree that nam 1Imm
b. must be: that he said "5R”
i.  inre: »9pw, which have a set amount, P21 jImn
ii.  But: nRon, which has not set amount, na71 j1aMn
b. 701 77 (our text reads 57aw7): would defend it as a case of amassing coins, per n”a
i.  Challenge: n:1 ©9pw rules that P5mM 0YpY IMN and PYIN NYYRN NPYY IMN
ii.  7or “r would answer the same way — a case of V19019 and per n"a
b. Related question: if he thinks he owes 2 09pw, or 2 mron, and is only liable for one and designates 2
i.  Background: all agreed that if he thought he was 2n 1 and was really 1109, his designation is null
ii.  Question: is surplus similar to that (2 is pn) or is it like "YR” (subject to previous discussion) —p'n
III. 7 mwn (in print — end of »): dispute "M "1/v" re distinction between 0*%pw and nron (cf. discussion above)
a. ™ 9pw have a fixed value, unlike nron
b. /i /1. the history of m9pw shows a varied value - first they would give 1377, then yYv etc.
i.  Note: they wanted to give (Roman-era) 117 (a “quart” —i.e. quarter Ypw) but didn’t do so, per v. 1
1. Tangent: other rules inferred from v. 1
a. Obligation: giving 3 times per year
b. Responsibility: nvanR for mYpw
c. Limit on collection: limit on how many times n*x13 collect per year
d. pan 77 this is an allusion to the three pro and 3 map (into which nmn is taken — see 2:3 DYPW)
i.  And: the 3 times a year at which n2w%n nn1n is taken (see X:3 DOpY)
2. Aggadic tangent: reasons for amount (of half-5pw=6 pon1=10 n) - v. 2
3. Aggadic tangent: reason for amount of 120 1779 (expiation for qo1 N7IN)
4. More on Spwi n’ynp: at 9o NI, each son profited w”nnn
c. Retort (¥”): even so, in each year, there was a single value given by all
i.  But: each person can bring a nkvn of greater or lesser worth
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IV. n mwn (in printed editions — T Mwn): status of surplus of donations (cf. discussion above)
a. Surplus of b’5pw: are poIn
i.  Snww: if he designated his Ypw and died, they go to nam
b. Surplus of: nRN N PWY (i.e. RVIN NMIN), DIP of NTHY ,NaT ,21; NRVN Or DWR — go to NAT
i.  Dispute re no’nn 1wy of 125 (720 nnaw): any "3 — must be destroyed; 8™ — becomes naT
1. pry 77 explains that our mwn'’s ruling is in re XvVIN Nnan (of non-1n3 >may be eaten)
c. Rule: the surplus of any gift brought for expiation is a nam
V.1 mwn (in print: end of n Mwn; in TN — end of T Mwn): more rulings about surplus of donations
a. wm of n%y, nman or DNYY go to that 127p
b. noo mp: goes to wnV
i. v ‘7 reported that Y9Rnw’s father came to "R with a naYn w11, as source for NLa AMND>DNOY
1. Source: v. 3 —if it comes from flock, it becomes nn%w
a. Challenge: could be ny (per v. 4 — comes from Ix¥)
i.  Response: must be something that comes exclusively from flock
b. Challenge: could be nwr (must be ram)
i.  Answer: must be something that comes from all flock (goats and lambs) — DWR is only ram
ii.  Challenge: usually "n” is exclusive — but here it is being used inclusively
1. Defense: this is still exclusive, as noa only comes from males
c. Challenge: v. 4 is just as indicative as v. 3 — why not become an ny?
i.  Answerl: we can adjust from an eaten 127p to another eaten 127p (unlike "% — 9253 n%3)
ii.  Answer2: we can adjust from 0%p DWW to DYp DWTP (unlike NNY — WVTP W)
ii. gy 7 reported that X3n "3 came to Y12 with n2%n — noa only becomes DnYY if NV’NY was DNOY DYYH
1. pny 7. disagreed — even if slaughtered n%y nwb, per v. 3
iii.  Question posed: does a noa that is slaughtered n%y nwY, with added »»s nawnn count as 5wa or just 510a?
1. Answer: no answer given
iv.  Question: what is the status of a noa 117p, any time but the proper one, slaughtered 1mw5 and then mwH ROW?
1. Nan 72 58w. since it has no "Dw” now, it is as if he slaughtered it without statement — and is 1w2
2. Challenge (711 72 12 *9): if so, even if he slaughtered it noa nwY in order to do 7”71 for a DNYY
a. It should be: considered as if the original intent was 1w5 85¥1 1MWH and be v
b. Answer (19 8ax ’3): perhaps a 9”p during the rest of the year isn’t 73 if done npnwa
C. 7’2 7277 D1 IMN to 0I1; 1 IMmn — to Nam
i. n”y. it is only nam if the nxon was brought last; if the on5>w was brought last — 0'n%w 1M
1. Support: »-0:8 nyn Rnavn - if he set aside money for nron and the rest for the rest of the 71 127p
a. And he died: n5yn attaches if all remaining funds are used; the non-ny money is ©’n%w (no NYyn)
ii. #7171 even if DNYY was brought last — surplus goes to nam
1. Reason: it is a single, consistent rule — nYw5 — P11 AN
2. Support: Rn»a (following 2:3 n5pn)- if P11 set aside money for 71 129 and he died, all goes to nam
a. Even if: he had designated nxvn 'm7 (which goes to nonn o) — rest is Nam
iii.  &7on ’1. surplus (flour) of 1 *nN5 must rot (cannot be used)
1. Reason (»oy “3): no other alternative:
a. Cannot: be brought alone — nn? is never offered on its own
b. Cannot: be offered with other 711 »nnY, as no M1 can be brought w/o on% — & can’t be augmented
2. First consideration: surplus wines of 0’501 should have same rule
a. Rejection (12 22722 7p1 79): they are mwTp *w1p and go to nam
i.  Based on p12 22722 71012 71 (re n”7's opinion): ™, YR1w and R all held similar positions
1. n”rinre w01 (surplus go to nam)
2. SN per above — as he told nmin 17 - if someone designated Ypw and died — goes to nam
3. ~”r in his dispute with 311 1 regarding surplus of na*xn N 1YWY of 13 (™ — to NaM)
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